Lecture L




* Pary | /Qear\%sian

T SV—/L’N ised learn ny

1 7’:?}"'{7 ! 2\51;4
|
LA
» X'T }/T
} 2 N 1
fl

Trq.'n.'n3 Do+e,

{Q&gﬁ&!swn
¢ Kegression Cipecial )
(Wuc,’ )

Clegs .'f—.'cu.:,,/; .

cConeiranonsy , €.9,

/VOVJ—A\“'OI) :
- Specifie e)‘ﬁmp,e:

( X ’ Y; )
X.:l y'.|
*i 7| &g AR R
K;P Y,J
T deneric Cxc.mplL
(X Y ) 0”‘0)’ 5VIL$L/‘|'/)\-
AT Y,
« [ % oo %
X yd

)iulljr'w\/l

P(x+ |x+rbb' 2 X lﬂ"omrl—)
¢

4
X

Yiimepe

¢ C”eﬁ""““{ , e.9, chatr - GPT

erklr x<b)
by

4 X

G {\golr_ cure jures /'H'Jll—am,%



* Gﬁlﬁ-‘-‘ Pora JIﬂM g
v frol'mloil{f.t—.'c ﬁormwlqu'an

L. a)o'd.e,cw‘vx& pur\&h'm /IO}P

5. }u\rm'ng c«[gow'+l«m

i, eAPpLCiments y tleory

] S’j:elxﬁ

o linzar podel

‘ 0( e.9.

Seacs Wt'&—lr) rey | X) [

6 U,,,'f.‘cm,'on : - 4
f
T

Jcélﬁ): w X +)9

)9 fas  vecrow
werghe
matri = +4

d x4

Am+l«\er Mo a(g(i -(
T 4

) v /e vcm'&lolef/ nenli nzar

nw‘l\‘nur R— T \]E&(’“fb\fﬁ LS

I —r— ——

Folx)s wh +b

ger e ffu./mp\(&ﬁgv\



i ‘QQCJVCSSMW

1, Y;(_ylx) NN(S, 0"‘-]:)
e v MUsy 7))

0’ —LY‘.’ '5')\
Po L VI X) = Tr : e ,LO,J,_ by .f;/&permle,ace

J=l

JG’,& - — Y-
* (o) ,,( o | Sl)

2. L«‘)g - Li[Le lv'LaoJ:
[(9 ) = 103 re L 71 x ) olJ}ZL e -ﬂw- Sr"‘gll L&qmp[l

ZL loy Fo [ ¥ilxs)

3

LLe )

= uo,t\kq(_laj PeLYIX))

- Jope J/SH:'LW*"M . f'dmc- L",*)
d&fﬁ‘.— ()‘;/‘7;) nt rdq,q{-x/y) , S 1, vev, N, ;I‘)JC/
T &MPI‘,\f(CJ JG)J—&\ V/lls.*/-"LM_*l\m

n
Prnen = % Z, By~ 00 i

——



* Loss (€) =lLZ [ v: - sl

_ﬁ(e): log ’oety,f.)

- 1
> 1 |7_sl ¢+ Cons +
2ot
Lie) < -1 21%"5.’]1 y 85 4
20

[

/‘/04.:'&6 M

n 1
max | (e) s min 2, l 75 ’JEaL"‘))
=] 6 ]

\,\r/_,/—*

Lgl“‘a* B S‘%M—W L°55

S, = feﬁx:) , €Y

}

Generie Example -

J
Josclo | = Ly -¢l" -3 (v-s)"

J=!

Jrop i

fe("()

W x:

+b



30 min loessLe) by gredienc ~besed merhol

e
(erron)
_(W oY -51e) = -
Sk
S\ AN A
by 2L : . ‘,/ \
o 2L A I B
75 9.’& IL z ;IL K w-Se | &
; : /) J
e Y-S
‘;—ﬂ = ~(r-5)= -e
S

now wel  wens

+|.¢_ Jem'wu,'wl w~'+Ln nes et ro e.

& 2 Wi + b«

. — 90 T
W 9 S 2\”& EI e - € R X
4 J
= -e, XT P
1 xp
d
Iy
2&. = - £



inds v s l cotey urles

° Classif Veat ton ¢

b
yedva, o Cesol}
1
T
1S Y }’-_: ' &— ong_ - LIDQ- Vee tor
Chnival ene C
hototion )
1)C = 6ok
)l
C=50K
P, Z; P =1
r
X T'VL f) E :
rC
one hit
| v L.
b c + prdos C=
P |
I u A
e +_Mqﬁ_b‘|) logits
s L 4 S wx )
(&
12 - (a3 '4r
| z | < t
[N P P
C ~
Sof ; Lt CLxp Pet '
‘fFrmax
or
St <
Vu_ = 2 e S = w L\ t b
350k r non linear
L e’ 2 K

c= |




i The ro!}vuz q—cm[)erc.fu/‘c T >0

Se /T
P 3 —————
Z CS(/'J’
c
l/(l\l'f {ll.--lc}
FI
Pl e e
rc ' P l‘i[r blL’ W\ZK S¢
o
0wc—1«\p+
- naore opont Je';mu aD MJMAJMCr: (ﬁa* o (Sswe f c 77 2—)
Sk spacens
Plc_ = < Se. K fc + cow}
an\ e 2 e
VA
e‘gL &31 %
T YT, Pl =— = —
§ % =
o/ ¢ &

,6(9) = 109 V(YlX)

= Sz‘[\a\,lz

= 5 92



Loy L8) = g pla]|x)

4
sy 2)

T (Lv,sy -les2)
c
D losste) -(' Ve - 2 legy %> Lfsy = 2 ¥eSe

d S a5
J = < £
1 c
R R
e~y
| Sk
= "(?'k -z e )
- ~(Yl<‘PK>
v e
JJ%S(”) - ’(Y‘Io)
95 o
e

o= enin st = €, [~ 10,5 )

Cos e o g velhie 9 p = Hipq) = - ELlyy)



54
ﬂ’ < i\s / F'L = &
e +E 2 esl',cf'l-
- Now we f.’x S, %0 , s0 p( L e" - S-'gww-'/( 5)
({wqh {ecQw\L(ang) L+ e’ '
!
Poz l=p = ——
| .2
F Lyl | I X > = eSI ! ; y
) P = 1+ en = smeid 51) QPQUQL Cre 1\ syt ek
44559 28 1450 9.5
e " B
Z 2 Z

les elyilx) = s, -lg(rre”)

Y, e{tlo}
T-

eneash o alicare rle  Ews  core
|7 cr /S @D



